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Time: 10 Minutes Paper Math 5 (T-5) Total Marks: 10

1st Month, 2nd Week, 5th Day|Unit # 1, Addition and Subtraction Q" )@,1@3

Q.No.1. Choose the correct option. 1x3=3) -J /'::,G:’i K4 T
i) Aslam has an annual income of Rs. 468 755. He spends Rs. 135 200 on the
construction of a Masjid. How much amount is he left with?

P FI L U1a 291352004 Flhvs- oo 11468 75504 Tou UM
[(a) | Rs.333555 [(b)| Rs.235500 |(c)[ Rs.375325 [(@)| 175240 |
ii) There are 558 907 trees of coconut on beach and 271 297 trees of dates in
an orchard. The difference of trees is:

I‘LJ/'uﬁu?';/)_u}SSS 907&/}14/b{d’bﬂ'271 297&/)&(}5/){6:6;“@

[(@)| 486610 [()| 287610 || 387510 [@] 587710 |

iii) There are 510 204 male and 309 710 female primary teachers in a city.

The total number of teachers in the city are:

e IS 225 S A1 U # 309 T10 132510 2041 2]

[@] 719614 [m)| 908814 [(@)| 806714 [@] 819914 |

Q.No.2.The price of a bike is Rs. 150 636 and the price of a mobile phone is

Rs. 144 092. Find the total price of bike and mobile phone. (1x2=2)
S Live & 2144 0928 SIS L2150 63627 SF g

Q.No.3.There were 766 442 trees in a jungle. The woodcutter cut 651 271
trees. How many trees are left? (1x2=2)

0L Guesn & O\ -&osbbe3651 271N H & 25766 44208 Skl

Q.No.4.A factory owner gave Rs. 448 870 as reward to his employees in one
year. In the second year Rs. 437 995 were given as reward. (1x3=3)
437 995Ut v pmr &I Ui It T 2,448 8T0E il UL L
oy é,;{/)’é(bjl%u
(a) What is the total amount given as reward in both the years?

‘.‘6{5)41)’£(b31‘};f ‘_}'{ AUy

(b) In which year the factory owner gave less reward and how much less?

?&)%)l&)rw'[LJLLd}QJVJ
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